1.

a.  It does not produce any output.

b.  5 6 7 8 9
c.  It does not produce any output.

d.  It does not produce any output.

2.

a. 15
b. 6
3.  Suppose that low specifies the starting index and high specifies the ending index in the array. The elements of the array between low and high are to be reversed. 


if(low < high) 


{



a. swap(list[low], list[high])


b. reverse elements between low + 1 and high - 1)

}
4.
Winter Spring Summer Fall Cold Warm Hot
5.  

      public static DataElement second(StackClass stack)

       throws StackUnderflowException

{

           DataElement temp1, temp2;
if(stack. isEmptyStack())

              throw new StackUnderflowException();

           temp1 = stack.top();

           stack.pop();
if(stack. isEmptyStack())

              throw new StackUnderflowException();
           temp2 = stack.top();

           stack.push(temp1);

return temp2;

}

